## BID OPENING DATE: JANUARY 18, 2006

Ref.	Item				ENGINEE	R'S ESTIMATE	UNITED SURVEY INC-Cleve,OF		REYNOL
No.	No.	Description	Qty.	Unit	Price	Amount	Price	Amount	Price
1	*201	Clearing and Grubbing	1	Lump Sum	\$250.00	\$250.00	\$100.00	\$100.00	\$1.00
2	*207	Straw or Hay Bales	25		\$9.60	\$240.00	\$20.00	\$500.00	\$5.00
3	*207	Perimeter Filter Fabric Fence	200	+	\$10.50	\$2,100.00	\$1.00	\$200.00	\$1.00
4	*207	Seeding and Mulching	200		\$1.10	\$220.00	\$2.00	\$400.00	\$1.00
5	*207	Inlet Protection	75		\$62.00	\$4,650.00	\$25.00	\$1,875.00	\$1.00
6	614	Maintaining Traffic	1		\$28,808.20	\$28,808.20	\$1,450.00	\$1,450.00	\$2,600.00
7	624	Mobilization	1	Lump Sum	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$9,200.00
8	636	Abandon DSR 350	<u> </u>	Lump Sum	\$6,000.00	\$6,000.00	\$2,100.00	\$2,100.00	\$2,335.00
9	*SS-2	Repair Water Service	2		\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$1.00
10	*SS-2	Repair Electric Service	2		\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$1.00
11	*SS-2	Repair Telephone Service	2		\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$1.00
12	*SS-2	Repair Gas Service	2	e EA	\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$1.00
13	*SS-2	Repair Sewer Service	2		\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$1.00
14	*SS-2	Repair Television Service Cable	2	1	\$2,500.00	\$5,000.00	\$500.00	\$1,000.00	\$1.00
15	SS-3	Bypass Pumping	1	Lump Sum	\$17,284.90	\$17,284.90	\$2,000.00	\$2,000.00	\$2,000.00
16	*SS-6	Chemical Grouting	100		\$60.80	\$6,080.00	\$10.00	\$1,000.00	\$1.00
17	*SS-7	Cementitious Grouting	100		\$24.80	\$2,480.00	\$30.00	\$3,000.00	\$1.00
18	SS-8	Open Cut Point Repair, L-416	100	EA	\$6,000.00	\$6,000.00	\$8,600.00	\$8,600.00	\$8,600.00
19	SS-8	Open Cut Point Repair, L-430	1		\$6,000.00	\$6,000.00	\$8,550.00	\$8,550.00	\$8,600.00
20	SS-10	Replace Manhole Frame and Cover	73		\$1,364.10	\$99,579.30	\$1,200.00	\$87,600.00	\$1,590.00
21	*SS-10	'	7		\$700.00	\$4,900.00	\$1,000.00	\$7,000.00	\$390.00
22	SS-10	Cementitious Manhole Rehabilitation	732		\$220.00	\$161,040.00	\$207.00	\$151,524.00	\$205.00
23	SS-11	Lateral Sewer Dye Tested	31		\$310.00	\$9,610.00	\$50.00	\$1,550.00	\$200.00
24	SS-12	8-Inch CIPP, 6.0 mm Min Thickness	14,826		\$37.20	\$551,527.20	\$24.00	\$355,824.00	\$29.00
25	SS-12	12-Inch CIPP, 6.0 mm Min Thickness	819		\$49.60	\$40,622.40	\$35.00	\$28,665.00	\$32.00
26	SS-12	12-Inch CIPP, 7.5 mm Min Thickness	403	lF	\$52.10	\$20,996.30	\$35.00	\$14,105.00	\$33.00
27	SS-12	15-Inch CIPP, 7.5 mm Min Thickness	589		\$55.80	\$32,866.20	\$36.00	\$21,204.00	\$40.00
28	S-12	15-Inch CIPP, 9.0 mm Min Thickness	842	LF	\$58.30	\$49,088.60	\$36.00	\$30,312.00	\$42.00
29	SS-12	18-Inch CIPP, 9.0 mm Min Thickness	879	) LF	\$74.40	\$65,397.60	\$55.00	\$48,345.00	\$55.00
30	SS-12	18-Inch CIPP, 10.5 mm Min Thickness	1,044		\$78.10	\$81,536.40	\$55.00	\$57,420.00	\$58.00
31	SS-12	18-Inch CIPP, 13.5 mm Min Thickness	380	) LF	\$85.60	\$32,528.00	\$55.00	\$20,900.00	\$62.00
32	SS-12	21-Inch CIPP, 12.0 mm Min Thickness	1,165	LF.	\$98.00	\$114,170.00	\$70.00	\$81,550.00	\$70.00
33	SS-12	21-Inch CIPP, 16.5 mm Min Thickness	146	LF	\$112.90	\$16,483.40	\$70.00	\$10,220.00	\$79.00
34	SS-12	Lateral Sewer Reestablished	595	EA .	\$186.00	\$110,670.00	\$50.00	\$29,750.00	\$50.00
35	*SS-12	Trim Protruding Laterals	10	EA EA	\$248.00	\$2,480.00	\$50.00	\$500.00	\$300.00
36	SS-24	Flexible Manhole Sealant Coating	73		\$400.00	\$29,200.00	\$700.00	\$51,100.00	\$750.00
37	Spec	Flow Monitor Allowance (Complete w/Installation Hardware)	4		\$7,035.00	\$28,140.00	\$7,035.00	\$28,140.00	\$7,035.00
38	Spec	Contingency (Sum 1-37 X 20 %)	1	Lump Sum	\$313,189.70	\$313,189.70	\$212,496.80	\$212,496.80	\$235,754.80
		TOTAL PROJECT COSTS				\$1,879,138.20		\$1,274,980.80	
		% DIFFERENCE FROM ENGINEER'S ESTIMATE				N/A		-32.15%	
		Bond Amount  Bonding Company  Proposal Bond Amount Required						\$190,000.00	
							Evergreer	Trav	
		Contract Compliance No. (Page P-3D)							
		Non-Collusion Affidavit Completed? (Page P-29)							
		Local Vendor? (Page P-4)							
		Addendum Acknowledgement Completed? (Page P-4)(No addend	um issued)					N/A	
		Proposal Affidavit Completed? (Page P-34)						Yes	

1/5/2012

## BID OPENING DATE: JANUARY 18, 2006

Ref.	Item		TE: JANUA	-	ENGINEE	R'S ESTIMATE	DS INLINER, LLC	
No.	No.	Description	Qty.	Unit	Price	Amount	Amount	
1	*201	Clearing and Grubbing	1	Lump Sum	\$250.00	\$250.00	\$1.00	
2	*207	Straw or Hay Bales	25	EA	\$9.60	\$240.00	\$125.00	
3	*207	Perimeter Filter Fabric Fence	200	LF	\$10.50	\$2,100.00	\$200.00	
4	*207	Seeding and Mulching	200	SY	\$1.10	\$220.00	\$200.00	
5	*207	Inlet Protection	75	EA	\$62.00	\$4,650.00	\$75.00	
6	614	Maintaining Traffic	1	Lump Sum	\$28,808.20	\$28,808.20	\$2,600.00	
7	624	Mobilization	1	Lump Sum	\$5,000.00	\$5,000.00	\$9,200.00	
8		Abandon DSR 350	1	Lump Sum	\$6,000.00	\$6,000.00	\$2,335.00	
9	*SS-2	Repair Water Service	2		\$2,500.00	\$5,000.00	\$2.00	
10		Repair Electric Service	2		\$2,500.00	\$5,000.00	\$2.00	
11		Repair Telephone Service	2	EA	\$2,500.00	\$5,000.00	\$2.00	
12		Repair Gas Service	2		\$2,500.00	\$5,000.00	\$2.00	
13	*SS-2	Repair Sewer Service	2		\$2,500.00	\$5,000.00	\$2.00	
14		Repair Television Service Cable	2		\$2,500.00	\$5,000.00	\$2.00	
15		Bypass Pumping	1		\$17,284.90	\$17,284.90	\$2,000.00	
16		Chemical Grouting	100		\$60.80	\$6,080.00	\$100.00	
17		Cementitious Grouting	100		\$24.80	\$2,480.00	\$100.00	
18		Open Cut Point Repair, L-416	1		\$6,000.00	\$6,000.00	\$8,600.00	
19		Open Cut Point Repair, L-430	1		\$6,000.00	\$6,000.00	\$8,600.00	
20		Replace Manhole Frame and Cover	73		\$1,364.10	\$99,579.30	\$116,070.00	
21		Rehabilitate Bench and Channel	7		\$700.00	\$4,900.00	\$2,730.00	
22		Cementitious Manhole Rehabilitation	732	VF	\$220.00	\$161,040.00	\$150,060.00	
23		Lateral Sewer Dye Tested	31	EA	\$310.00	\$9,610.00	\$6,200.00	
24		8-Inch CIPP, 6.0 mm Min Thickness	14,826		\$37.20	\$551,527.20	\$429,954.00	
25		12-Inch CIPP, 6.0 mm Min Thickness	819		\$49.60	\$40,622.40	\$26,208.00	
26		12-Inch CIPP, 7.5 mm Min Thickness	403	LF	\$52.10	\$20,996.30	\$13,299.00	
27		15-Inch CIPP, 7.5 mm Min Thickness	589	LF	\$55.80	\$32,866.20	\$23,560.00	
28	_	15-Inch CIPP, 9.0 mm Min Thickness	842	LF	\$58.30	\$49,088.60	\$35,364.00	
29		18-Inch CIPP, 9.0 mm Min Thickness	879	LF	\$74.40	\$65,397.60	\$48,345.00	
30		18-Inch CIPP, 10.5 mm Min Thickness	1,044	LF	\$78.10	\$81,536.40	\$60,552.00	
31		18-Inch CIPP, 13.5 mm Min Thickness	380		\$85.60	\$32,528.00	\$23,560.00	
32		21-Inch CIPP, 12.0 mm Min Thickness	1,165	LF	\$98.00	\$114,170.00	\$81,550.00	
33		21-Inch CIPP, 16.5 mm Min Thickness Lateral Sewer Reestablished	146		\$112.90	\$16,483.40	\$11,534.00	
34			595	EA	\$186.00	\$110,670.00	\$29,750.00	
35		Trim Protruding Laterals Flexible Manhole Sealant Coating	10 73		\$248.00	\$2,480.00	\$3,000.00	
36 37		Flow Monitor Allowance (Complete w/Installation Hardware)	13		\$400.00 \$7,035.00	\$29,200.00 \$28,140.00	\$54,750.00 \$28,140.00	
38	•	Contingency (Sum 1-37 X 20 %)		Lump Sum	\$313,189.70	\$313,189.70	\$235,754.80	
30	Spec	TOTAL PROJECT COSTS	'	Lump Sum	\$313,169.70	\$1,879,138.20	\$1,414,528.80	
		% DIFFERENCE FROM ENGINEER'S ESTIMATE			-	W/A	-24.72%	
		Bond Amount				14/7 (	\$141,452.28	
		Bonding Company	elers Casualty					
		Proposal Bond Amount Required	\$141,452.88					
		Contract Compliance No. (Page P-3D)	01-0684682					
		Non-Collusion Affidavit Completed? (Page P-29)	Yes					
	Local Vendor? (Page P-4)				No			
	Addendum Acknowledgement Completed? (Page P-4)(No addendum issued)				N/A			
		Proposal Affidavit Completed? (Page P-34)					Yes	

1/5/2012

## BID OPENING DATE: JANUARY 18, 2006

Ref.	Itom			1	ENGINEE	R'S ESTIMATE	*INICITUEODM	TECHNICLOCIES INC	KUKUSING	CONST CO INC
No.	Item No.	Description	Qty.	Unit	Price	Amount	Price	TECHNOLOGIES, INC Amount	Price	Amount
1	*201	Clearing and Grubbing	Q (y.	Lump Sum	\$250.00	\$250.00	\$100.00	\$100.00	\$100.00	\$100.00
2	*207	Straw or Hay Bales	25	<del></del>	\$250.00	\$240.00	\$5.00	\$100.00	\$40.00	\$1,000.00
3	*207	Perimeter Filter Fabric Fence	200		\$10.50	\$2,100.00	\$2.00	\$400.00	\$5.00	\$1,000.00
4	*207	Seeding and Mulching	200		\$10.50	\$2,100.00	\$3.00	\$400.00	\$0.60	\$1,000.00
5	*207	Inlet Protection	75		\$62.00	\$4,650.00	\$10.00	\$750.00	\$100.00	\$7,500.00
6	614	Maintaining Traffic	1	Lump Sum	\$28,808.20	\$28,808.20	\$3,700.00	\$3,700.00	\$20,000.00	\$20,000.00
7	624	Mobilization	1	Lump Sum	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
8	636	Abandon DSR 350	1 1	Lump Sum	\$6,000.00	\$6,000.00	\$2,300.00	\$2,300.00	\$1,000.00	\$40,000.00
9	*SS-2	Repair Water Service	2	EA	\$2,500.00	\$5,000.00	\$2,300.00	\$2,300.00	\$110.00	\$220.00
10	*SS-2	Repair Electric Service	2	EA	\$2,500.00	\$5,000.00	\$1.00	\$2.00	\$110.00	\$220.00
11	*SS-2	Repair Telephone Service	2	EA	\$2,500.00	\$5,000.00	\$1.00	\$2.00	\$110.00	\$220.00
12	*SS-2	Repair Gas Service	2	EA	\$2,500.00	\$5,000.00	\$1.00	\$2.00	\$110.00	\$220.00
13	*SS-2	Repair Sewer Service	2	+	\$2,500.00	\$5,000.00	\$2,100.00	\$4,200.00	\$110.00	\$220.00
14	*SS-2	Repair Television Service Cable	2	EA	\$2,500.00	\$5,000.00	\$1.00	\$2.00	\$110.00	\$220.00
15	SS-3	Bypass Pumping	1	Lump Sum	\$17,284.90	\$17,284.90	\$14,875.00	\$14,875.00	\$3,500.00	\$3,500.00
16	*SS-6	Chemical Grouting	100		\$60.80	\$6,080.00	\$1.00	\$100.00	\$50.00	\$5,000.00
17	*SS-7	Cementitious Grouting	100		\$24.80	\$2,480.00	\$1.00	\$100.00	\$50.00	\$5,000.00
18	SS-8	Open Cut Point Repair, L-416	1	EA	\$6,000.00	\$6,000.00	\$10,600.00	\$10,600.00	\$8,500.00	\$8,500.00
19	SS-8	Open Cut Point Repair, L-430	1	EA	\$6,000,00	\$6,000.00	\$10,600.00	\$10,600.00	\$8,500.00	\$8,500.00
20	SS-10	Replace Manhole Frame and Cover	73		\$1,364.10	\$99,579.30	\$1,300.00	\$94,900.00	\$1,200.00	\$87,600.00
21	*SS-10	·	7		\$700.00	\$4,900.00	\$700.00	\$4,900.00	\$650.00	\$4,550.00
22	SS-10	Cementitious Manhole Rehabilitation	732	. VF	\$220.00	\$161,040.00	\$181.00	\$132,492.00	\$185.00	\$135,420.00
23	SS-11	Lateral Sewer Dye Tested	31		\$310.00	\$9,610.00	\$200.00	\$6,200.00	\$50.00	\$1,550.00
24	SS-12	8-Inch CIPP, 6.0 mm Min Thickness	14,826	LF	\$37.20	\$551,527.20	\$25.00	\$370,650.00	\$28.50	\$422,541.00
25	SS-12	12-Inch CIPP, 6.0 mm Min Thickness	819	LF	\$49.60	\$40,622.40	\$37.00	\$30,303.00	\$37.00	\$30,303.00
26	SS-12	12-Inch CIPP, 7.5 mm Min Thickness	403	LF	\$52.10	\$20,996.30	\$33.00	\$13,299.00	\$37.75	\$15,213.25
27	SS-12	15-Inch CIPP, 7.5 mm Min Thickness	589	LF	\$55.80	\$32,866.20	\$42.00	\$24,738.00	\$38.00	\$22,382.00
28	S-12	15-Inch CIPP, 9.0 mm Min Thickness	842	LF	\$58.30	\$49,088.60	\$42.00	\$35,364.00	\$39.00	\$32,838.00
29	SS-12	18-Inch CIPP, 9.0 mm Min Thickness	879	LF	\$74.40	\$65,397.60	\$53.00	\$46,587.00	\$49.00	\$43,071.00
30	SS-12	18-Inch CIPP, 10.5 mm Min Thickness	1,044	LF	\$78.10	\$81,536.40	\$55.00	\$57,420.00	\$53.00	\$55,332.00
31	SS-12	18-Inch CIPP, 13.5 mm Min Thickness	380	LF	\$85.60	\$32,528.00	\$60.00	\$22,800.00	\$62.00	\$23,560.00
32	SS-12	21-Inch CIPP, 12.0 mm Min Thickness	1,165	LF	\$98.00	\$114,170.00	\$71.00	\$82,715.00	\$64.00	\$74,560.00
33	SS-12	21-Inch CIPP, 16.5 mm Min Thickness	146		\$112.90	\$16,483.40	\$107.00	\$15,622.00	\$90.00	\$13,140.00
34	SS-12	Lateral Sewer Reestablished	595		\$186.00	\$110,670.00	\$200.00	\$119,000.00	\$175.00	\$104,125.00
35	*SS-12	,	10		\$248.00	\$2,480.00	\$340.00	\$3,400.00	\$185.00	\$1,850.00
36	SS-24	Flexible Manhole Sealant Coating	73		\$400.00	\$29,200.00	\$670.00	\$48,910.00	\$375.00	\$27,375.00
37	Spec	Flow Monitor Allowance (Complete w/Installation Hardware)	4		\$7,035.00	\$28,140.00	\$7,035.00	\$28,140.00	\$7,035.00	\$28,140.00
38	Spec	Contingency (Sum 1-37 X 20 %)	1	Lump Sum	\$313,189.70	\$313,189.70	\$239,180.00	\$239,180.00	\$245,218.05	\$245,218.05
		TOTAL PROJECT COSTS				\$1,879,138.20		\$1,435,080.00		\$1,471,308.30
		% DIFFERENCE FROM ENGINEER'S ESTIMATE				N/A		-23.63%		-21.70%
		Bond Amount					\$143,508.00			\$150,000.00
		Bonding Company Proposal Bond Amount Required					Travelers Casualty		Liberty Mutual	
							\$143,508.00		\$147,130.83	
	Contract Compliance No. (Page P-3D)  Non-Collusion Affidavit Completed? (Page P-29)  Local Vendor? (Page P-4)						13-3032158 Yes		31-1023518 Yes	
								No	Yes	
	Addendum Acknowledgement Completed? (Page P-4)(No addendum iss							N/A		N/A
		Proposal Affidavit Completed? (Page P-34)						Yes		Yes

\*Chesterfield, MO

## BID OPENING DATE: JANUARY 18, 2006

		BID OPEN	1						
Ref.	Item				r	R'S ESTIMATE		AN WATER SERV	
No.	No.	Description	Qty.	Unit	Price	Amount	Price	Amount	
1	*201	Clearing and Grubbing	1	Lump Sum	\$250.00	\$250.00	\$1,050.00	\$1,050.00	
2	*207	Straw or Hay Bales	25	EA	\$9.60	\$240.00	\$11.00	\$275.00	
3	*207	Perimeter Filter Fabric Fence	200		\$10.50	\$2,100.00	\$3.25	\$650.00	
4	*207	Seeding and Mulching	200		\$1.10	\$220.00	\$3.25	\$650.00	
5	*207	Inlet Protection	75	EA	\$62.00	\$4,650.00	\$52.00	\$3,900.00	
6	614	Maintaining Traffic	1	Lump Sum	\$28,808.20	\$28,808.20	\$3,000.00	\$3,000.00	
7	624	Mobilization	1	Lump Sum	\$5,000.00	\$5,000.00	\$12,100.00	\$12,100.00	
8	636	Abandon DSR 350	1	Lump Sum	\$6,000.00	\$6,000.00	\$2,200.00	\$2,200.00	
9	*SS-2	Repair Water Service	2	ĒA	\$2,500.00	\$5,000.00	\$850.00	\$1,700.00	
10	*SS-2	Repair Electric Service	2	EA	\$2,500.00	\$5,000.00	\$315.00	\$630.00	
11	*SS-2	Repair Telephone Service	2	EA	\$2,500.00	\$5,000.00	\$315.00	\$630.00	
12	*SS-2	Repair Gas Service	2	EA	\$2,500.00	\$5,000.00	\$525.00	\$1,050.00	
13	*SS-2	Repair Sewer Service	2	EA	\$2,500.00	\$5,000.00	\$840.00	\$1,680.00	
14	*SS-2	Repair Television Service Cable	2	1	\$2,500.00	\$5,000.00	\$315.00	\$630.00	
15	SS-3	Bypass Pumping	1	Lump Sum	\$17,284.90	\$17,284.90	\$30,000.00	\$30,000.00	
16	*SS-6	Chemical Grouting	100		\$60.80	\$6,080.00	\$136.00	\$13,600.00	
17	*SS-7	Cementitious Grouting	100		\$24.80	\$2,480.00	\$78.00	\$7,800.00	
18	SS-8	Open Cut Point Repair, L-416	1	EA	\$6,000.00	\$6,000.00	\$9,000.00	\$9,000.00	
19	SS-8	Open Cut Point Repair, L-430	1	EA	\$6,000.00	\$6,000.00	\$9,300.00	\$9,300.00	
20		Replace Manhole Frame and Cover	73		\$1,364.10	\$99,579.30	\$1,300.00	\$94,900.00	
21		Rehabilitate Bench and Channel	7		\$700.00	\$4,900.00	\$370.00	\$2,590.00	
22	SS-10	Cementitious Manhole Rehabilitation	732	VF	\$220.00	\$161,040.00	\$193.00	\$141,276.00	
23	SS-11	Lateral Sewer Dye Tested	31	EA	\$310.00	\$9,610.00	\$53.00	\$1,643.00	
24		8-Inch CIPP, 6.0 mm Min Thickness	14,826	1	\$37.20	\$551,527.20	\$32.50	\$481,845.00	
25	SS-12	12-Inch CIPP, 6.0 mm Min Thickness	819		\$49.60	\$40,622.40	\$52.00	\$42,588.00	
26	SS-12	12-Inch CIPP, 7.5 mm Min Thickness	403	LF	\$52.10	\$20,996.30	\$44.00	\$17,732.00	
27	SS-12	15-Inch CIPP, 7.5 mm Min Thickness	589	LF	\$55.80	\$32,866.20	\$48.00	\$28,272.00	
28	S-12	15-Inch CIPP, 9.0 mm Min Thickness	842	LF	\$58.30	\$49,088.60	\$49.00	\$41,258.00	
29	SS-12	18-Inch CIPP, 9.0 mm Min Thickness	879	LF	\$74.40	\$65,397.60	\$52.00	\$45,708.00	
30	SS-12	18-Inch CIPP, 10.5 mm Min Thickness	1,044	LF	\$78.10	\$81,536.40	\$64.00	\$66,816.00	
31		18-Inch CIPP, 13.5 mm Min Thickness	380	LF	\$85.60	\$32,528.00	\$76.00	\$28,880.00	
32		21-Inch CIPP, 12.0 mm Min Thickness	1,165	<b>+</b>	\$98.00	\$114,170.00	\$78.00	\$90,870.00	
33		21-Inch CIPP, 16.5 mm Min Thickness	146		\$112.90	\$16,483.40	\$138.00	\$20,148.00	
34		Lateral Sewer Reestablished	595	EA	\$186.00	\$110,670.00	\$360.00	\$214,200.00	
35	*SS-12	Trim Protruding Laterals	10		\$248.00	\$2,480.00	\$195.00	\$1,950.00	
36	SS-24	Flexible Manhole Sealant Coating	73		\$400.00	\$29,200.00	\$393.00	\$28,689.00	
37	Spec	Flow Monitor Allowance (Complete w/Installation Hardware)	4		\$7,035.00	\$28,140.00	\$7,035.00	\$28,140.00	
38	Spec	Contingency (Sum 1-37 X 20 %)	1	Lump Sum	\$313,189.70	\$313,189.70	\$295,470.00	\$295,470.00	
		TOTAL PROJECT COSTS				\$1,879,138.20		\$1,772,820.00	
		% DIFFERENCE FROM ENGINEER'S ESTIMATE				N/A		-5.66%	
		Bond Amount				\$1,772,820.00			
		Bonding Company				Travelers Casualty			
		Proposal Bond Amount Required	<b>II</b> \$177,282.00						
		Contract Compliance No. (Page P-3D)				76-0469163			
		Non-Collusion Affidavit Completed? (Page P-29)		Yes					
		Local Vendor? (Page P-4)	Yes N/A						
		Addendum Acknowledgement Completed? (Page P-4)(No addendum							
		Proposal Affidavit Completed? (Page P-34)				Yes			

\*American Water Services
Underground Infrastructure, Inc.